
Quickly too many 
communication channels



1 Person

l No “communication channels” if only one 
person



3 People

3 lines



5 People

10 lines

Added: 10-3 = 7



7 People

21 communication 
lines (channels)

`

Added: 21-10 = 11



9 People

`
`

`

36 communication 
lines (channels)

Too much Activity!

(for an introvert)

Added: 36-21= 15



10 People

45 communication 
lines (channels)

Too much Activity!!

(for an extrovert?

…to get work done)

Added: 45-36= 9

`

`

`

`



What is the best team size?

Let’s discuss.


